B \R BT RENSE TG (B RIS TR HHTE 68 308 (A)
Frx

= g & B &t E E fi& B 8
=LZ\CA 456 JtiEE 1512 1,188 972 10 Va9
IZALCA 15.2 £ % - 1,728 - 10| vay M
ZIES5 13.6 BERE 3,348 2,700 2214 10 2M
[E<ELY 22.7 £ % 1,404 1,080 1,080 15 A L
HTE 1.2 BERE 3,024 2,808 864 4f A M
—EOH 5.6 ERE 1,836 1,620 1,188 4f A M
Fry 86.4 = 1,080 864 648 0] A 8
IE5NAZES 3.5 BERE 2,808 — 2,592 4f A M
hE 6.2 ERE 1,188 972 864 3l A L
_hE 1.0 2 [ 3,888 3,240 2,592 3l A S
_hE & B - 2916 — 3 L
125 1.8 =0 3,240 2,160 2,160 5] vay
L) — 0.9 E % 3,456 2,700 2,484 10 A LL
T RAINSHR 2.3 & JIl - 756 — 0.3
LAR 345 E % 1,496 1,496 972 10 A LL
FoTHA 1.2 BRE 1,944 — 1,728 4f A L
=Y 19.2 BRE 1,080 864 756 5/ A L
=p5Y =0 1,944 1,836 1,728 51 B M
ANESSES) 7.7 A¥LO — 2,646 — 10] vay 5
Y 3.0 = I 2,376 — 2,268 5/ A LL
Y = A0 1,080 — 864 25| A M
k< h 24.4 B X 1,404 1,296 1,080 PR L
k< X & 1512 1,080 1,080 4 A 24
I=kTh 45 BE X 1,944 — 1,080 3 vay M
F—<> 6.6 X 7 86 — 76 0.15 A LL
E5EACL 3.3 K B 1,814 — 1512 5] A LL
x93 1.9 BRE 81 — 76 0.1 A M
[ZA5Y 45 BRE 1,296 864 864 3l A LL
SPVAITFA 0.1 X & - 1,296 - 150 A LL
MALE 28 E X 1,836 1,674 1512 5 LL
[ES AT 24.2 x_ - 1,458 — 10 A 3L
[ECARYONS x_ - 1,998 — 10 A LL
[ECTRYNS BRE - 324 - 0] A L
[ECTRYNS BRE - 324 - 0] A LL
=L 0.3 BRE 1,728 - 1,620 5/ A LL
f=Fh&E 72.6 = B 2,160 1,944 1,728 20 va9 S
5oE&LD 0.7 BRE 2,160 - 1,836 0] A L
HELLV=T 2.6 BERE 119 — 97 0.1 Vi M
ELLV=IT =I5 108 76 65 0.1 A
ZADEET 5.9 K B 32 24 22 0.1 A
LoHL 1.6 2 [ 97 68 65 0.2
ESES TE 460.4
B=

= g fm B & .%( & E fi& B 8
BINAMDAET
INGRH DA i B 3,240 — 2,160 5 L
INGRH DA i B 3,780 2,700 2,700 5 M
INDRFH A & B 3,780 2,700 2,700 5 S
LEY 1.2 TA)H 6,048 5,400 1,728 17
INLUVT 1.4 TA)H 6,480 3,240 3,240 17 1133
L7 2)1LY 0.2 m7r7Y 4,968 — 4536 15 50
YATE 7.2
PEFE=IAN 6.3 5 4,536 — 4428 10] vay 36
AL 0.5 5 & 7,776 6,048 6,048 10 M)A 32
3HET 1.6
3% 1.6 E X 432 — 216 05 vay L
FTHHE 15
ERGS 1.5 X & 486 432 378 04| vay LL
B35 0.6 W iz 486 — 432 0.18] vIva LL
fipYp) iz 486 410 410 0.18] w2 L
fipYp) W - 410 — 0.18] wiva M
58 0.1
SESE 1.1
TI9IF 0.3 =l - - — PR LL
FT5917F =I5 - 3,629 — 16 A L
To9z7F = - - - PR M
Big 0.6 2 [ 810 702 594 03] B 4L
[ f2 [ 864 756 756 0.3 B 4L
W52 0.2 BRE - 162 — 025 A 25
W52 BRE 324 — 238 025 A S
AOVEF 2.8
7—ILR 0.3 EES 6,480 4,320 4,320 85 7V 3L
AAZ 0.7 x I 2,592 — 2,160 51 Y19 3L
FDAOY 1.8 Ik 3,456 3,240 3,024 5] vay 3L
FULIVAEL 15.1
FLVvH 11.2 X » — 6,232 — 18] iy 4L
ARy x 9 6,232 — 5,346 16| va9 3L
CEETLVH 3.9 BERE - 3,240 - 0] A 4L
INFF 16.8 EEY 4514 3,186 2,948 15
INAFyTIL 2.3 EYEY 3,240 2,862 2,862 10 8
FoA4T)LY 1.0 ol B 6,156 - 4,050 15 4
BE#E 555




